ER26FEERHT

CAZTFIOVTINAKRE

INER (EEE[5
E £ A - %‘ - Eﬂzéﬁ X *3 e | N o oag |FEB| B5 | AG | BEO | roAH | BXE | EE
Ay ”‘%4 &K O 6 -0 6 -0 6 * 3 3 0 100 18—0 18 1
EEEP}?jj‘j%ﬁE it £y 0-6 1- 6 6- 4 3 1 2 33 7—16 -9 4
EK&;’HA TN 0-6 6 - 1 6 6 - 0 4 3 1 75 18—10 8 2
B VEE Ll 0-6 * 3-6 6 - 2 3 1 2 33 9—14 -5 3
122 s | anEsa * 4-6 0-6 2 3 0 3 0 6—18 -12 5




ER26EERHT

N S [1#[]

CAZTFIOVTIAKRE

. 1 2 3 AL " " . , N
2 He [ (% —L 5 B
K % 24 o wm 2B L | hHt ik K| b | B | BEw | L% | BxE I 45
hE  YSk
P ZE=E EL/ N 2 -6 6 -0 2 1 1 50 8—6 2 2
IEHT a9k
BEE B | trEe/MER 6 - 2 6 - 2 2 2 0 100 12—4 8 1
a4K 94
INFE AR mEbhER 0-6 2 -6 2 0 0 0 2—12 -10 3
INER BFE [248]
24 ‘ 2 3 e « =W | H—L = Bz
K % HH 4 - e o BB RE | Bb | A | BEw | S—L% | BKE Bz
T Yk
FE DM | EkONER 6 -0 6 -0 2 2 0 100 12—0 12 1
X7 =
=% EMWE| KO/ 0 -6 6 - 1 2 1 1 50 6—7 -1 2
FhLS IFAh
hit MHE |aFE=/MzE] 0 - 6 1 -6 2 0 0 0 1—12 -11 3
ERREEH(CI—M)
K% R
—— N 0
1HA16L) iBEE B | tRENER
B FE W
2414I| FHE N | Bk -
=RREAI—R)
K% PR
6
158241 P ZEE EL/ N
=1 P =%
282 == FEARZE | KiLO/hE




FER26FERAHTOLZ

FOOTINAKRE

() e 14
s 1 2 3 4 sta [ =0 R = B
[: %4 KA S & §ix siE s sa wk KA | Bb | B | BER | L% | BxE g4
FHN Yay
[EER E|AR | I\ FHRIES 6 - 4 6 - 1 3 -6 3 2 1 67 15—11 4 2
YUF 2954
B mX B H 4 - 6 6 - 2 1 -6 3 1 2 33 11—14 -3 3
BhNY FEFX
BtE mME B 1 -6 2 -6 1 -6 3 0 3 0 4—18 -14 4
A4 2av’i
5H #X tEH 6 - 3 6 - 1 6 - 1 3 3 0 100 18—5 13 1
[—F v 2
. 1 2 3 4 sta | =0 R = B
[: 1 A ok Het . SO - i e KA | Bb | B | BER | F—L% | BxE g4
RXF HhXFY)
$AR HfEth | EETERS 3 -6 5 -6 6 - 1 3 1 2 33 14—13 1 3
A9 4TF
KiZE 7 e 6 - 3 6 -0 6 -0 3 3 0 100 18—3 15 1
YIS Tagn
BIE FE == 6 - 5 0-6 6 — 1 3 2 1 67 12—12 0 2
THT LavARy
FEiE B a 1 -6 0-6 1 -6 3 0 3 0 2—18 -16 4
ERREEHDI—M)
K£ 2
A1 S K| wases 1
1B R KE P&
24151 KB {RER | matheik s
=RREBET—R)
KE£ 2
14B20| WSS W | AFicsmcs 2
= BTE FF
24024 AIE FTFE | BHHER




ER26FEERHT

CAZTFIOVTINAKRE

() e 1
25 ‘ 2 3 wa | =W | H—L = B
[: %4 A P — - sm 5E KA | Bb | B | BEw | S—L% | BKE N
Yrt ®EEH
E 51t Kiloe 6 - 2 2 -6 2 1 1 50 8—8 0 2
ESHT HIT
EJ O BWa 2 -6 1 -6 2 0 2 0 3—12 -9 3
RHATS a9h
ER RE B H 6 - 2 6 — 1 2 2 0 100 12—3 9 1
() e 2
" 1 2 3 A " " . , N
=253 =) [ (% —L 5 543
K4 FHRE SR~ R e B TE% | Bb | A | BEW | F—L% | B%2 I fs
POZ A o
BRE EZF | mIIHEARH 6 -0 6 - 4 2 2 0 100 12—4 8 1
Y€ Lvs
J\K BEE At 0-6 2 -6 2 0 2 0 2—12 -10 3
*F Uk
PR B4R BWa 4 - 6 6 - 2 2 1 1 50 10—8 2 2
B REEFI—R)
K& 2R
1| BR RE | methes 8 — T
B e —— B BER RE
28R4 BRE BXE | mImHEARS 3
=RREHFI—F)
KE£ 2l
1420 W BAE | KO 4 - —
— =4 HWPE SR
28026 WFE M | wEhER




